HIGH PRESSURE STICK NAILER

O-RING KIT
Parts marked
| O are

"included in !

the O-rigg_; m
201




MAX PARTS PRICE LIST JUNE 2010

Part NO Part Code Description List Price Ratio

HS90A 1 HN10067 SCREW 6 X35 $1.80 10
HS90A 2 HS70021 CYLINDER CAP UNIT $69.56 1
HS90A 3 HS10074 CYLINDER CAP SEAL $7.28 10
HS90A 4 KK23650 COMP SPRING 3650 $1.06 5
HS90A 5 HH11120 0O-RING ARP569-009 $0.36 10
HS90A 6 HS10073 PIPE $5.90 1
HS90A 7 HS10072 PISTON STOP $4.90 5
HS90A 8 HH11141 O RING ARP568-138 $1.32 10
HS90A 9 HH11162 0O-RING ARP568-140 $2.40 10
HS90A 10 HS10070 HEAD VALVE PISTON $35.60 5
HS90A 11 HH14162 O-RING AS 568-141 $3.38 5
HS90A 12 HS10071 HEAD VALVE GUIDE $54.76 1
HS90A 13 HH19715 O-RING A2.6X59.4 $2.32 5
HS90A 14 HH11813 O-RING P32 $6.70 5
HS90A 15 HS70030 MAIN PISTON UNIT $87.74 10
HS90A 16 HS10080 CYLINDER SEAL $10.48 10
HS90A 17 HH19724 O-RING A3.1X44 $1.76 10
HS90A 18 HS10079 CCYLINDER $59.80 1
HS90A 19 HH19192 O-RING 1A3,1X56,5 $2.98 10
HS90A 20 HS10081 BUMPER $10.26 10
HS90A 21 HH11908 O-RING A1.5X47 $2.26 5
HS90A 22 HS10077 FILTER A $6.70 5
HS90A 23 HS10078 FILTER B $3.82 5
HS90A 25 HN10819 EXHAUST COVER $5.70 10
HS90A 26 HN10783 PROTECTOR $1.26

HS90A 27 HN11594 NAME LABEL A $2.86 1
HS90A 28 CN35074 TRIGGER LOCK DIAL $1.10 1
HS90A 29 KK23507 COMPRESSION SPRING 3507 $0.20 1
HS90A 30 FF21235 ROLL PIN 3 X 30 $0.20 20
HS90A 31 HN11595 NAME LABEL B $2.86 1
HS90A 32 CN35075 TRIGGER LOCK LEVER $1.10 1
HS90A 33 HN10379 GRIP COVER $8.46

HS90A 34 CC49411 ELASTIC STOP NUT M5, REPLACES TA15554 $0.20 10
HS90A 41 HH19102 O-RING 1A2,4X31,8, REPLACES #TA15265 $1.20 10
HS90A 43 HN10517 END CAP $69.56 1
HS90A 44 HN10316 END PLUG CAP $0.80 1
HS90A 45 TT05425 AIR PLUG H-FPM $53.16 1
HS90A 46 HH19722 O-RING A1.5X5 $0.56 10
HS90A 47 HH19127 O-RING 1A1.5X5.5 $1.68 10
HS90A 48 HN10043 PILOT CAP $4.12 1
HS90A 49 HN10018 PILOT SEAL $1.52 5
HS90A 50 HH12105 O-RING 1A1.5X12.8 $0.64 5
HS90A 51 HN10016 TRIGGER VALVE HOUSING $1.26 1
HS90A 52 HH11208 O-RING BP6, REPLACES HH11804 $0.56 10
HS90A 53 HS10772 PILOT VALVE $3.86 1
HS90A 54 HH11132 O-RING 1AP10A $0.44 5
HS90A 55 KK24165 COMP. SPRING 4165 $1.80 5
HS90A 56 HH19707 O-RING 1A1,4X2,5 $0.64 10
HS90A 57 HS10774 TRIGGER VALVE STEM $13.06 5
HS90A 58 HH19214 O-RING 1B 1.5X3 $1.26 5
HS90A 59 HS10773 TRIGGER VALVE CAP $29.00 5
HS90A 60 HS10144 CONTACT LEVER B $4.64 5
HS90A 61 KN12401 TRIGGER, REPLACES HS10147 $3.38 5
HS90A 62 HS10143 CONTACT LEVER A $5.70 5
HS90A 63 FF22402 SPRING PIN 2X16 $0.20 5
HS90A 64 HN10358 ARM GUIDE PIN $12.08 1




MAX PARTS PRICE LIST

JUNE 2010
HS90A 65 HS10145 SWITCH LEVER A $3.08 1
HS90A 66 KK23129 COMPRESSION SPRING 3129 50.20 10
HS90A 67 HS10146 SWITCH LEVER B $5.16 1
HS90A 68 CN34500 SPRING LEVER $2.50 1
HS90A 69 HS10148 ARM GUIDE $3.84 1
HS90A 70 KK23653 COMP SPRING 3653 $0.46 5
HS90A 71 HN10818 CONTACT ARM A $3.36 1
HS90A 72 HN10357 CONTACT BUMPER 50.80 5
HS90A 73 HS70025 NOSE A UNIT $262.32 1
HS90A 74 KK23864 COMP SPRING 3864 $1.76 5
HS90A 75 CC00401 ELASTIC STOP NUT M5 50.44 5
HS90A 76 HS70024 CONTACT ARM B UNIT $79.80 5
HS90A 77 KK23643 COMPRESSION SPRING 3643 50.26 5
HS90A 78 LL71806 STEEL BALL 3 $0.20 5
HS90A 79 HS10088 ADJUST DIAL $3.12 1
HS90A 80 HS10087 CONTACT BOLT $13.84 1
HS90A 81 BB40221 SCREW M8X25 $0.66 10
HS90A 82 CN32712 ADJSUT STOPPER $1.80 5
HS90A 83 HS10086 CONTACT ARM C $84.00 1
HS90A 84 BB40401 BOLT 5X22, REPLACES TA15301 50.20 5
HS90A 85 HS10123 DOOR LATCH $8.96 1
HS90A 86 KK23868 COMP SPRING 3868 b2.28 5
HS90A 89 HS10121 DOOR $100.34 1
HS90A 90 BB40406 SCREW M5x12 $0.26 10
HS90A 91 EE31121 WASHER 1-5 $0.20 5
HS90A 92 FF51520 PIN 1520 $0.80 1
HS90A 94 HS10093 FEED PAWL A $34.14 1
HS90A 95 EE39602 RUBBER WASHER 7, I;E:I;’;QZC;ES PART#'S EE39604, $0.44 20
HS90A 96 KK23861 COMP SPRING 3861 $1.52 5
HS90A 97 FF41844 PIN 1844 $8.44 1
HS90A 98 HS10094 FEED PAWL B $31.82 1
HS90A 99 KK23710 COMP. SPRING 3710 $2.00 5
HS90A 100 HS10098 LEVER $3.84 1
HS90A 101 EE39609 RUBBER WASHER 1.8X6.2 $0.72 5
HS90A 102 KK23717 COMP SPRING 3717 $1.26 5
HS90A 104 KK33326 SPRING 3326 $2.82 5
HS90A 105 HS10097 CHECK PAWL C $20.24 1
HS90A 106 FF31264 STRAIGHT PIN 1264 $2.06 1
HS90A 107 HS10096 CHECK PAWL B $6.96 1
HS90A 108 HS10130 GUIDE $3.12 1
HS90A 110 FF31291 PIN 1291 $3.12 1
HS90A 111 KK23900 COMP. SPRING 3900 $1.52 5
HS90A 112 KK23843 COMP SPRING 3843 $0.26 5
HS90A 113 KK23863 COMP SPRING 3863 $1.52 5
HS90A 114 EE39169 WASHER 4.65X7.4X0.5 $0.56 1
HS90A 115 HS10129 NAIL HOLDER $7.20 1
HS90A 116 HS10128 CHECK PAWL D $5.44 1
HS90A 117 FF31290 PIN 1290 $2.32 1
HS90A 118 KK23867 COMP SPRING 3867 $1.52 5
HS90A 119 HS70026 SLIDE PLATE UNIT $25.40 1
HS90A 120 HS10124 SLIDE PLATE GUIDE A $12.38 1
HS90A 121 HS10125 SLIDE PLATE GUIDE B $5.90 1
HS90A 122 HS10122 DOOR COVER $11.58 1
HS90A 123 FF31288 PIN 1288 $36.70 1
HS90A 124 HS10100 NAIL GUIDE $10.76 1




MAX PARTS PRICE LIST JUNE 2010

Part NO Part Code Description List Price Ratio
HS90A 126 HS10099 MAGAZINE $28.76 1
HS90A 132 BB40405 BOLT 5X25 $0.20 5
HS90A 133 HS10131 ARM COVER $7.20 1
HS90A 135 HS10091 FEED PISTON $34.68 1
HS90A 136 HH11143 O-RING 1AP21 $0.64 5
HS90A 137 KK23845 COMP SPRING 3845 $2.06 5
HS90A 139 HS10092 SPRING GUIDE $3.38 1
HS90A 140 JJ10405 E-RING 4 $0.26 10
HS90A 141 HS10090 NOSE B $46.72 1
HS90A 142 HS10151 FEED NOZZLE $3.12 1
HS90A 143 HS10150 FILTER C $9.76 1
HS90A 144 HH19127 O-RING 1A1.5X5.5 $1.68 5
HS90A 145 CN37528 FEED PISTON STOP (REPLACES CN31570) $2.12 1
HS90A 146 HS10095 CHECK PAWL A $5.44 1
HS90A 147 HH11111 O-RING 1AP14 $0.44 5
HS90A 148 KK23862 COMP SPRING 3862 $1.52 5
HS90A 149 HH19714 O-RING 1A1,5X20,5 $1.20 5
HS90A 150 HN10019 TRIGGER VALVE CAP $32.86
HS90A 151 TA17024 FILTER A---Replaces Old# CN33690 $11.06 1
HS90A 152 HS10108 NAME LABEL (HS90 USA) $2.82 1
HS90A 153 HS10763 WARNING LABEL $3.10 1
HS90A 154 HN10100 CONTACT LEVER $5.90 1
HS90A 155 HS10118 TRIGGER $3.12
HS90A 156 HN10400 ARM GUIDE PIN $59.28
HS90A 157 HS10117 CONTACT ARM A GUIDE $130.10
HS90A 159 HN10401 CONTACT ARM A $14.14
HS90A 160 KK23736 COMPRESSION SPRING 3736 $0.36
HS90A 161 KK23735 COMPRESSION SPRING 3735 $0.36
HS90A 162 KK33300 SPRING 3300 $17.46
HS90A 163 HN10017 PILOT VALVE $1.80
HS90A 164 HN10353 TRIGGER VALVE STEM $6.70
HS90A 165 HS80026 FRAME ASSY $179.60
HS90A 166 HS10779 SWITCHING LEVER $0.26
HS90A 167 KK24166 COMP. SPRING 4166 $1.80
HS90A 168 HS10764 SWITCHING LABEL $2.86
HS90A 169 HS10132 HOOK $4.36
HS90A 170 HS10133 HOOK PIN $5.16
HS90A 171 JJ10509 E-RING 4CF, REPLACES JJ10101 $0.20
HS90A 172 EE39172 PLAIN WASHER 5.1X12X1.2 $2.60
HS90A 173 KK23844 COMP. SPRING 3844 $1.30
HS90A 201 HS80011 O-RING KIT FOR HS90 $31.56 10
HS90A 202 HS80025 TRIGGER VALVE KIT $62.66 5
HS90A 203 HS80006 ARM GUIDE KIT $55.16 1
HS90A 204 HS80010 DOUBLE SEQUENTIAL TRIGGER KIT $182.78






